Surd (HKMO Classified Questions by topics)

1987 FI5.3
. V3242143 s Kt .
NN o
If \/g =2\/i+3,ﬁndthevalueofc.
277 -3 c
1988 FI3.1
\/§ 2\/_+h N
v Fh i o
2\/_ B 25
£ V3 =2m+h,ﬁndthevalueof h
237 -3 25
1989 FG10.1
63
¢ e =3Ja+6 > fahid o
3\/_ 2\/5 1B
63
=3a +6, find the value of a.
3f 243
1990 HI1
[ e N S S SR S
3-8 V8-7 J71-46 Jo-+5 J5-2

1

1 1

Find the value of

2000 HGY

® x=y3+3Ky=43-43

R XL+ 4y i e

1 1
3-8 VBT NT-6 J6-5 5-2°

Let x =y3++/3 and y =43-+3, find the value of x*(1 + %) + 7.

2000 FI3.3

- 2 2 2 R

e + +eeet = ’
J2+04 Ja+46 J1998%2 +4/1999x2 /2 +4/1999%2

F R g o

Given that 2 + 2 Hoeeet 2 = R

V24404 Ja+ie V1998x2 +4/1999x2 /2 +4/1999%2
find the value of R .
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2000 FG1.2
X = 1= \/_ 1+\/§ o 4r% h=2"-3xy+2y° K behig o
1+\/_ =43
Let x= 1-V3 and y:1+\/§.Ifb=2x2—3xy+2y2,ﬁndthevalueofb.
1++3 1-+/3
2001 HG3

=\3-5 4345 2 y=x f y iE o
Letx=v3—~/5 +1/3++/5 andy=2x> find the value of y .
2002 FG34
dhrxy=145 yz=1-5c £+ +2 —xy—yz—zx=d> fdin
& o
Giventhatx—y=1+\/§,y—z=1—\/5.
If x* + 2 + 22 — xy — yz — zx = d, find the value of d.

2002 FG4.2
# x>00y>0 2 x(Wx+1)=3y(x+5/y) -
e 2x++/xy +3y L H b i -
x+\/_ y
It is given that x > 0, y > 0 and \/;(\/;+\/;):3\/;(\/;+5\/;).
2
165 =22V E3Y g the value of b
oy
2005 F14.3
T BI85 25 s L
P BT 59 .
V35447 211815 -24/35+9
If , find the value of ¢ .
\/§+\/§+\/_ 59
2005 FG4.3

—Z:"c=2\/§><«3/1.5x6\/1_ v e eniE o
If c=2+3x3/1.5 %412, find the value of c .
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2006 FG3.1 Evaluate 1 N 1 ey 1 . 1
o N8-2 - V8 -2 V2012 ++/2011  /2011++/2010 NERSNGIRNG NI
¢ e r=2006x ——— » F r g o Giventhat 7 =2006x ——— , find the )
V2 V2 (Answer can be expressed in surd form.)
value of r. 2012 FG3.1
2007 FI1.1 ;}: \/_+\/_ \/_ \/_ %2 192z= x —|—y —|—(x+y)4 ZmIE' °
daiFH  Ja=T+13 AT-13 » fa s - T B
Let a be areal number and \/ZZ\/7+\/§—\/7—\/§.Find the value of a . | gt \/_Jr\/_ \/_ V3 and 192z = x* + y* + (x + )*, find the value of .
2008 FI2.1 TB TR
; -1 2014 F12.3
o P{%x(%/ﬁﬂ v & P g e Ko ey Bl o 0 E A - \24y =42 H x § B K
L Determine the smallest positive integer y such that the equation
Given that P =| /6 x 3/L , find the value of P . V- V247 =42 hasan integer solution in.x.
162 2014 FI4.1
2008 FI2.3 ) ) %—\/_6\/5\/_ =3Jo—6 » £ a it
% R=( ﬁwij +[\/\/§—ﬁ] kR i - 3 233
4 4 6 —3\/6 —6, determine the value of o .
LetR=( \/§+\/5) +( \/5—\/5) . Find the value of R . 3\/5‘*‘2\/_
2014 FG4.2
2009FI31 B N J5-1 . . .
. F X= 5 y= v F Xy 20y +xy’ ehiE o
& I =a-+b - F m=a-b> F m g o 2 2
\/g+\/_ \/§+\/—
If )cz\/§-|_l and :\/g—l » determine the value of X’y + 2x%? + x)°
Given that N \/_—\/_ \/_:\/E—\/Z.Ifmza—b,ﬁndthevalueofm. 5 YTy YAy T
11 HI3 6+v2 N3+42 2016 FI1.2
=\8+ 15 ++/8 =15 > F b F HciE o
¢ st g+ b=JN2011++2010 % a—b=++2011-~2010 » & ab Pt o VB + IS 8IS o A b o dici
(5% 4 7) If \/ZZ\/S+\/E+\/8—\/E,determine the real value of b .
2016 F13.3, 2017 FG3.2
Given that a + b =/v2011 + /2010 and a — b =/~+/2011 —+/2010 , 016 FI3.3, 2017 FG3 i
find the value of ab . (Give your answer in surd form) £ 0<x<1 % c:( 1+x + 1-x j( Lz_ _l] eiE o
2012 HG4 Vi+x—l-x 1-x? +x—1 X
: 1 1 1 1 I If 0 <x < 1, determine the value of
o + et + R o >
V2012442011 /2011 ++/2010 B2 2+ N 1—x 1 1
% 2 = . c= + X -1-=
(§ 77 R LT ) Vitx—vl-x  J1-x> +x-1 X’ X
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2019 F12.1

2 JA=\11+21 =11=421 » £ 4 hiE -
If \/ZZ\/11+\/2_—\/11—@,determinethevalueofA.

2019 FG1.4

BT ET
NN RN W

BT 5

Let x and y If d=3x*-7xy+3)”, determine the value

5T 5T

= d=3*-Txy+3y*» £ d ehig -

ofd.

2019 FG3.1

¥ 32x81x343=b\a > £ ¥ a 4o b I Kl & a ko] @ o

If /32x81x343 =b/a , Where a and b are positive integers, determine the least
value of a .

2023 HG2

$#95 0<x <2 ¥ [

N2+ x 2—x J( 4 2} PN
eiE o

V24 x—2-x \/4—x2+x—2 X x

For 0 <x <2, find the value of 2¥x + 2-x 42_ _2
V2+x-2-x \/4—x2+x—2 X x

2023 HGS8
v x 2 oy A FHEBE - =43% xy=2°% x+y v HX

a\/b+\/_ B g~bZ ¢85 1 Fi#c> £ 100a+ 10b+c k] B o

Given that x and y are positive real numbers satisfying x> —? = 4 and xy = 2.

If the value of x + y can be expressed in the form of a+/b + Je,

where a, b and ¢ are positive integers, find the least value of 100a + 105 + c.
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Answers

1987 FI5.3 1988 FI3.1 | 1989 FG10.1 1990 HI1 2000 HG9
25 3 6 5 12

2000 FI3.3 | 2000 FG1.2 | 2001 HG3 | 2002 FG3.4 | 2002 FG4.2

3996 25 10 8 2

2005 FI4.3 | 2005 FG4.3 | 2006 FG3.1 | 2007 FI1.1 2008 FI2.1
20 6 2006 2 3

2008F123 | 2000F131 | M 2012HG4 | 2012 FG3 L
10 3 ?/2010 24503 -1 6

2014 FI2.3 | 2014 FI4.1 | 2014 FG4.2 | 2016 FI1.2 [2016F133,2017FG32
3 6 5 30 -1

2019 FI2.1 | 2019 FG1.4 | 2019 FG3.1 | 2023 HG2 2023 HGS
2 419 14 -1 172
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